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Math Il ling Quadratic Functions Practice
( 1. Build a quadratic function in factored form for the parabolas below.
by . Ay
NES 1l =
(x +2) (x-1)
(-1, -6)
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3wz a(x +3) | X-3) - By “(**7-3(“3
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-z -%a
-H= -2a o -—L' —_— 5 a=3
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g = L (xe3)(x-3) 9= 3(xez)(x) 1)\ x-4) y
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2. Build a quadratic function in factored form from whose graph has the given x-intercepts and \
passes through the qiven point.
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x-intercepts: l 4
point: (3 2)

z:a(3- \\(s H)

zza(2)()

x-intercepts: —
point: (-4, 8)
32 a4 7)(-4-2)

3o a(-2)(-)

15 = (-7 v16)( -1 +3)

LR ..
.z-:'..}.:.-b a = -| 17 "7 -)0\-.:;
= z
b =-(x -4\\:‘-\\] b i -;;()(n\(x -z)
x-intercepts: — 10, —8 x-intercepts: 3, 9
point: (=7, —15) point: (14, 77)

17 = aw-3)(14-1)

s a(3)(1) 112 a(n)[s)
SR e FIR 4N
\Il:-g(x-r\b“xﬂ)‘ Yz %(X—'S)(x")

>2. Build a quadratic function in factored form from whose graph has the given x-intercepts and
passes through the given point.

x-intercepts: —1,6
point: (1, —20)

-20 = a1 +1)(1-L)
202 a(2)(-s)
"_7-_0_ - ’IOA

-0 v]o — A= 1
Yz 2 (xn)(x-L)
x-intercepts: -5, 0
point: (—3, 18)

1% = a(-3+5)(-3 +0)

= a(2)(-3)

g~ -La

L
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( 3. Write a quadratic function in vertex form for the parabolas. w
L by

ot

’;t ) vertex:
(0,2 (=1, 4) he e x:
1 y 1{ (1, 0)
- s -
X "

vertex - -
(2, ~2) e JR
Yy W K l V\ '
Y= a\(x-\q + K 7= a(-z-(-l\\z 3y -3= "\("l-'Y-l-O
1_-.«(0-1)1-2 7-""(‘\ Y e e
-y 4 4
'L':O\kil\-z P - az -3
2 A + 2 i - -2 T
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4. Write a quadratic function in vertex form whose graph has the given vertex and passes through

RO PO hoK h oK
vertex: (2, —1) vertex: (—4, 6) vertex: (4, 5)
point: (4, 3) point: (—I 9) point: (8, —3)

Xy x 9

g q-«(-l--q)\ﬂ, g
3:ala-2)-) -3z alg-4) 45
32 Ya-| ‘3° ILa4S
v *| 5
Y= -v=1(
'y ‘.‘5.\.. > az| I .f " :l'

= {)( - 7.)1 .1 J
vertex: ((, )
point: (—%. - l‘jZ)

Y "/dx-ﬂ\"*_;i_r
vertex: (—“6. -

point: (0, —61)
X'y

2
QUI:O\ ’-5.‘ - < T
“l12za(-2-0) o Sl =t = “(°""‘\) =
TL‘QHS B A3 eS AL bl + 1 +7
LH~1lba > a =l . —
1 - - s &
Y = -3\&-0\ U i G o 4=3\a % a\\:.-s

9= u(x-1) -0 |Crez

W = -'s(x)z
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